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int a,float b;
while(a>3);
if(a>0 & a<10)
else :

+a+;

!

€



Remaining time to disable the quiz

02:54:17
main {
int a,b,c,
cout<’enter number:’;
cin>>a,b,c;
cout<”jame="<<a+b+c;

}
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#include <iostream>
using namespace std,

main(){
cout<«<2*3/5*%5-6%2/10+1,

¥

#include <iostream>
using namespace std;

main()

{
int a= 3;
if(a>3)

cout<<"a"<«<a;
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#include <iostream> Sllas g sue 2 ol jo L S gy (glaeliye punlysy )514
using namespace sStd; L bl b clabs o aif pge |, pime ¥ sl aex
main() ‘

Caus adlsl ¢ yamun
int a,b;
cin>>a>>b;

cout<<a<<b;
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Gl Pl S Ve 50 T b g SRS b T e 5 Wi Lo 15158 5 (o o (lS85 (3,8 lax L YL
(5 51 ylgel ils and (g1p0) oy luled 55 wiile 5 oL

your id code is: ....ccovrerrrnnennnn your birth is: ..evecrveeeenaans User Name is: ....ccceeevensannanes

8)

Cogh 31>k
Patd g S Cdl 0 1y Lo uS g udgd Jlur e WS G ylia0l (il olawi el o LY
G VA 5l g Jlu J81 S ) Cl ool 8l CrgunSing b pleo b jgel iils a5 umo
@235 0al (55 plae 4y 955 WA GAYFe (pslo 1515 %y wal os5 350l 5iils 45 955 YU

bl ALl eodw yluudiw gy Ao 099 VWP 5 JieS o 515 0

AL BB 9 G )l gax by widgs palyr (K80 9 (4l (o 05 99,9 50 )51 (s 40
S bl 1) (Cowl yuiaoli glo uS) Uas ol 399 Y¢ 3l




Remaining time to disable the quiz

02:54:17
Jlis o 9 00,5 Sl o 1y asly liael iily olaes lol 9,9 3oy colw slp Y

30 30y oleie 1y sl zez g uwles oud cclw g olo g jgy ds g 00,5 by 1) Lanlgs
S ool 1,15 4 90,8 ks

10)
629> 42 Lol 0uiS iy yo3 o (plly 51y 9, 1 Az oy padlss oo o2 )3T Can (6l

090 S 00litiaw] woSxo (6,I0F 0 g 3l L by

0055 (waSro b ol oy 09,9 05 (ywpaw g g 1S 1y (WS (yl50] (il Sloei g as95

S gulei ]y cpolly 3o, e,

Send and finish

Powered by DigiSurvey



